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Lar
Find all solutions of the equation in the interval [0, 2m).

(Enter your answers as a comma-separated list
solution, enter NO SOLUTION.)
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Use a graphing utility to approximate (to three decimal places) the solutions of the equation in the interval [0,
your answers as a comma-separated list.)

cos(x) = x

https://www.wolframalpha.com/ has a grapher. There are other graphing utilities

on the Internet. Find one that you like and that
seems to work for you.


https://www.wolframalpha.com/

	Page 1: Feb 11-8:16 AM
	Page 2: Feb 11-8:53 AM
	Page 3: Feb 11-9:02 AM
	Page 4: Feb 11-9:25 AM
	Page 5: Feb 11-9:37 AM

